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Name: __________________________________


1
Given the graph of the line represented by the equation [image: image1.png]


, if b is increased by 4 units, the graph of the new line would be shifted 4 units

	1)
	right

	2)
	up

	3)
	left

	4)
	down



2
The function [image: image2.png]Ax) = |x|



 is multiplied by k to create the new function [image: image3.png]


.  Which statement is true about the graphs of [image: image4.png]


 and [image: image5.png]a(x)



 if [image: image6.png]


?

	1)
	[image: image7.png]a(x)



 is a reflection of [image: image8.png]


 over the y-axis.

	2)
	[image: image9.png]a(x)



 is a reflection of [image: image10.png]


 over the x-axis.

	3)
	[image: image11.png]a(x)



 is wider than [image: image12.png]


.

	4)
	[image: image13.png]a(x)



 is narrower than [image: image14.png]


.



3
In the functions [image: image15.png]Ax) = kx*



and [image: image16.png]


, k is a positive integer.  If k is replaced by [image: image17.png]


, which statement about these new functions is true?

	1)
	The graphs of both [image: image18.png]


 and [image: image19.png]a(x)



 become wider.

	2)
	The graph of [image: image20.png]


 becomes narrower and the graph of [image: image21.png]a(x)



 shifts left.

	3)
	The graphs of both [image: image22.png]


 and [image: image23.png]a(x)



 shift vertically.

	4)
	The graph of [image: image24.png]


 shifts left and the graph of [image: image25.png]a(x)



 becomes wider.



4
Compared to the graph of [image: image26.png]


, the graph of [image: image27.png]—0% 43




 is the result of translating [image: image28.png]



	1)
	2 units up and 3 units right

	2)
	2 units down and 3 units up

	3)
	2 units right and 3 units up

	4)
	2 units left and 3 units right



5
If the parent function of [image: image29.png]


 is [image: image30.png]


 then the graph of the function [image: image31.png]—k)*+5,




 where [image: image32.png]k>0,



 would be a shift of

	1)
	k units to the left and a move of 5 units up

	2)
	k units to the left and a move of 5 units down

	3)
	k units to the right and a move of 5 units up

	4)
	k units to the right and a move of 5 units down



6
If [image: image33.png]


, which function is the result of shifting [image: image34.png]


 3 units left and 2 units down?

	1)
	[image: image35.png]o(x) = (x+2)* -3





	2)
	[image: image36.png]—0% 43






	3)
	[image: image37.png]o(x) = (x+3)* -2





	4)
	[image: image38.png]-2








7
If [image: image39.png]


, then which function represents a shift of the graph of [image: image40.png]


 4 units to the right and 3 units down?

	1)
	[image: image41.png]o(x) = (x+4)* +3





	2)
	[image: image42.png]Jx) = (x+ 4P -3





	3)
	[image: image43.png]—4% -3






	4)
	[image: image44.png]—4% 43








8
What would be the order of these quadratic functions when they are arranged from the narrowest graph to the widest graph?

[image: image45.png]


   [image: image46.png]o(x) = 0.5x°



   [image: image47.png]h(x) = 3x°




	1)
	[image: image48.png]Az, g(x), hix)





	2)
	[image: image49.png]g(x), 2 (x), 1x)





	3)
	[image: image50.png]B(x), 1x), g(x)





	4)
	[image: image51.png]Az, hix), g(x)







9
When the function [image: image52.png]


 is multiplied by the value a, where [image: image53.png]a>1



, the graph of the new function, [image: image54.png]



	1)
	opens upward and is wider

	2)
	opens upward and is narrower

	3)
	opens downward and is wider

	4)
	opens downward and is narrower



10
Caitlin graphs the function [image: image55.png]


, where a is a positive integer.  If Caitlin multiplies a by [image: image56.png]


, when compared to [image: image57.png]


, the new graph will become

	1)
	narrower and open downward

	2)
	narrower and open upward

	3)
	wider and open downward

	4)
	wider and open upward



11
The graph of the equation [image: image58.png]


 is shown below.

[image: image59.png]



If a is multiplied by [image: image60.png]


, the graph of the new equation is

	1)
	wider and opens downward

	2)
	wider and opens upward

	3)
	narrower and opens downward

	4)
	narrower and opens upward



12
The students in Mrs. Smith's algebra class were asked to describe the graph of [image: image61.png](x-3)°




 compared to the graph of [image: image62.png]


.  Which student response is correct?

	1)
	Ashley said that the graph of [image: image63.png]a(x)



 is wider and shifted left 3 units.

	2)
	Beth said that the graph of [image: image64.png]a(x)



 is narrower and shifted left 3 units.

	3)
	Carl said that the graph of [image: image65.png]a(x)



 is wider and shifted right 3 units.

	4)
	Don said that the graph of [image: image66.png]a(x)



 is narrower and shifted right 3 units.



13
How does the graph of [image: image67.png]Ax)=3x-27+1



 compare to the graph of [image: image68.png]


?

	1)
	The graph of [image: image69.png]


 is wider than the graph of [image: image70.png]a(x)



, and its vertex is moved to the left 2 units and up 1 unit.

	2)
	The graph of [image: image71.png]


 is narrower than the graph of [image: image72.png]a(x)



, and its vertex is moved to the right 2 units and up 1 unit.

	3)
	The graph of [image: image73.png]


 is narrower than the graph of [image: image74.png]a(x)



, and its vertex is moved to the left 2 units and up 1 unit.

	4)
	The graph of [image: image75.png]


 is wider than the graph of [image: image76.png]a(x)



, and its vertex is moved to the right 2 units and up 1 unit.



14
The function [image: image77.png]


 is multiplied by k, where [image: image78.png]k <—-1



.  Which graph could represent [image: image79.png]


?

	1)
	[image: image80.png]> <






	2)
	[image: image81.png]> <






	3)
	[image: image82.png]> <






	4)
	[image: image83.png]>

> X








15
The graph of [image: image84.png]


 is shown below.

[image: image85.png]



Which graph represents [image: image86.png]


?

	1)
	[image: image87.png]




	2)
	[image: image88.png]




	3)
	[image: image89.png]




	4)
	[image: image90.png]






16
The functions [image: image91.png]Ax)=x—6x+9



 and [image: image92.png]


 are graphed below. 

[image: image93.png]><

>X




Which value of k would result in the graph of [image: image94.png]a(x)



?

	1)
	0

	2)
	2

	3)
	[image: image95.png]




	4)
	[image: image96.png]






17
If the original function [image: image97.png]


 is shifted to the left 3 units to make the function [image: image98.png]a(x)



, which expression would represent [image: image99.png]a(x)



? 

	1)
	[image: image100.png]2x-3)0 -1





	2)
	[image: image101.png]2x+ 30 -1





	3)
	[image: image102.png]




	4)
	[image: image103.png]






18
Given:
[image: image104.png]—D%+4






[image: image105.png]—5% 44





When compared to the graph of [image: image106.png]


 the graph of [image: image107.png]a(x)



 is

	1)
	shifted 3 units to the left

	2)
	shifted 3 units to the right

	3)
	shifted 5 units to the left

	4)
	shifted 5 units to the right



19
Josh graphed the function [image: image108.png]Ax-1)+2




.  He then graphed the function [image: image109.png]Ax-1°-5




 on the same coordinate plane.  The vertex of [image: image110.png]a(x)



 is

	1)
	7 units below the vertex of [image: image111.png]




	2)
	7 units above the vertex of [image: image112.png]




	3)
	7 units to the right of the vertex of [image: image113.png]




	4)
	7 units to the left of the vertex of [image: image114.png]






20
The graph of [image: image115.png]


 is shown below.

[image: image116.png]



What is the graph of [image: image117.png]


?

	1)
	[image: image118.png]




	2)
	[image: image119.png]




	3)
	[image: image120.png]




	4)
	[image: image121.png]
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